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1. BER/NE (BB by, F/MY)
AL
1) g e BT B il A& BT 55 i (4%
Eit ROHE (MEF L) (MEFH)
(B ) (R ) (FRIATTE)
A—RSYTE 3,850 74,362 85,651 92,503
T A)hiE 3,060 94,365 100,231 108,249
ZDith 1,541 104,776 122,151 131,923
it 8,451 87,151 97,586 105,393
2. BERAXE (BRI b F/bY)
AL
= BT B Tl BT 55 i 4%
Bt RIHE (IEF L) (NEFH)
(B %) (B3 i) (FRiATA)
T A)hiE 5,200 119,247 125,491 135,530
A—RSYTE 2,000 — — —
hF53E 1,840 111,345 118,046 127,490
it 9,040 — — —

CEDTZDM L, EMARZDLDNEFT LS TNS,

CE2)ZHEMN2BLUTOEMICONTIE, BHMEERETIEARET D,




	区分Ⅱ（公表）

